Math 002-13, Quiz 2 (4.3-4.5), Term 163 , Instructor: Sayed Omar, Pagel 17-Jul-17
Serial #: ID NAME
Show all necessary steps for full marks.

Question 1: (5 points): If f (x)=1+5In2x ,then f 7(x)="?

Solution:

Q2.
If f(x)=1+5In2x, then f™'(x) =

. .
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Question 2: (5 points):
(@):The graph of y = Ioge|x —3|—1
(b): Find the intervals where the graph is below the x-axis. ]
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_|logy(x =3)-1 if x >3 3t
~llog,(3-x)-1 if x <3 1

0=log,|x =3 -1= log,|x -3 =1= 3'=|x -3 =x -3=43 = x =6, X =0
Question 3: (5 points): If log,(5) =a and log,(2) =b , find log (30) intermsof & and b .

Solution:
l0g;30 _log,(5)(6) _ log,(5) +10g,(6) _ a+log,(3)(2)

log ~(30) = = =
V2 |093\/§ log, 2"* 1|0g32 l(b)
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_a+log,(3)+log,(2) a+l+b 2a+2+2b
) b b b
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Question 4: (5 points): Solve log(5—x) +log(—3—x) =1log(1—8x)
Solution: log(5—x)(-3—x)=1log(1—-8x)
5-x)(-3-x)=1-8x
—15-5x +3x +x°=1-8x
X?+6x -16=0 = (x+8)(x-2)=0
=X , x =2rejected = SS ={-8}
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